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19 689 95 147 320 133
4 979 6.99 10.69 23.19 9.69
20 739 88 162 320 138
5 119 6.19 11.29 22.19 9.59
”n 828 90 167 385 190
4 BY 5.49 10.09 23.19 1 149
99 897 95 180 380 268
4 PO 5.29 9.99 20.99 1 479
957 99 189 416 271

23 1,58
4 B39 5.19 9.79 21.49 1 409
1,032 110 200 405 306

24 1,5 8
5 @9 5.39 9.79 19.79 1 499
1,111 97 215 399 292

25 1,57
5 249 4.69 10.19 18.89 1 39
1,198 98 225 378 303

26 1,56
5 409 4.49 10.19 17.09 1 39
1,287 99 237 318 368

27 1,5 8
5 &9 4.39 10.29 13.79 1 599
28 1,346 88 255 304 371
5 689 3.79 10.89 12.89 1 579







